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6 @UE-H H 100 mﬁ-@- gy # 6 In Section-A, there  are

100 objective e gquestions, out
fmnwfiﬁ'rsoww*"a?ﬁr bjective type 4
of which any 50 questions

3”;-]'373}' FEY S«Ic.:r i r=i '"',_ ) ..

&1 7T q s, P are to be answered First
3T 24 GY WIE' 50 3';"'-"' #I Bl 50 answers will be evaluated in
g e feegr s geEE 95 & case more than 50 guestions are

T EeTrarT

fﬁ,(‘, 1 3w Frffea & gF 3ET answered. Bach queston carnes
o S K o 1 mark For_anstvering these
J_UT&T@‘ m 77?7 0@ J:H_ o H darken the circle®vith blue / black
R4 14 el faweq @t Al / FTT ball pen aganst the correct optin:
gir 47 e & faEar o7 on QMR Answer sheet provided to
TER & EreAV / ave 9erd / vou. Do not use whitener / liquid

=g / el 3> FT OMR F57- /.blade / nail etc. on OMR-sheet,
otherwise the result will be

gﬁﬁw II qarT & IF?T g’ treated invalid.
=TT GITAT QU NI g

7. @Ug-& 4 30 @Y IAIE 49A ¢,
S . oy . answer e guestions, oul of
fard & gt 15 WoAT T I 37 type 4 f

2 _ - . which any 15 guestions are to be
AFETE &1 GEI BT 2F e et cames

favifer &1 5% sifais, 39 GUs 4 8 angris. e

~]

In Section-B, there are 30 short

there

8 e Fwvra uv fad nd &, [FH are 8 long answer type

& fE=t & gvAt &1 IAT AT A quastians; oot of I enp
s % s . o 4 questions are to be answered
Yedes GV & [0 § aHa [Auifea &1
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WUg - A / SECTION - A

Eﬁﬁfa' U949 / Objective Type Questions
v §EAT 1/ 100 7% & 999 & qrg |arw fawey v e § o @ ve wgt #
=T 50 wvt & 3IAT W97 FRT Y7 MU @Al faweu @t OMR 9z wv fafeaw
) 50 x 1 = 50
Question Nos. I to 100 have four options, out of which only one is correct.
Answer any 50 questions. You have to mark your seteged option on the

OMR-Sheet. 00 x 1 =50

1. fwdl @ fag P 3 g9 m pA @ pg @ onf tend-gh o #)oaf

PA =8 @fl @ PB =
(A) 6 FH (B) 8 @i
(C) 12 @ (D) 16 4t

From an external point B, tw@ tangents PA and PB are drawn on a
circle. If PA = 8 cm then PB =

(A) 6cm (B) &8cm
(C) l12em (D) 16 cm
2. ufk pa T pBTH Fm farg PA ¥ O @id gu gt @R E wel and 3
U 2APH®= 80° @1 £ POA =
(Ay 40° (B) 50°
(C) 80° (D) 607
If PA and PB are the tangents drawn [rom an external point Pto a

circle with centre at O and £ZAPE = 80" then ZPOA =

(A)  40° (B) 50°
(C) 80° : (D)  60°
SS/A/605 Page 3 of 44
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3. qamﬁaﬂﬁmﬁﬁgw@ﬁﬂnéwﬁ%@.mﬁﬁgéiﬁwmiam&iﬁml
q ®H-T1 F =) 2 0
(A) 30° (B) 45°
(€) 60° (D) 90°
What is the angle between the tangent drawn at any point of a
circle and the radius passing through the point ¢t camact ?
(A) 30° (B) 45°
(C) 60° (DI 90°
4. aqﬁﬁﬁmﬁWWS%S&ﬁﬁmﬁwa
(A) 3:4 B 4:3
| €y 9:16 (D) 16:9
The ratio ofsthe padii of two circles is 3 : 4 : then the ratio of their
areas is
A 3-4 (B) 4:3
(C) 9:16 (D) 16:9
S. 42 w99 3w F 3w Brwws R S 910 30° 2, @ daea 2
(A) 51582 (B) 416 &fi?
(C) 462 {2 (D) 406 FH?
SS/A/605

Page 4 of 44

BiharboardQuestionpaper.com


https://biharboardquestionpaper.com/bihar-board-class-10th-math-question-paper/

[110]

The area of the sector of a circle of md:us 42 cm and central angle

30° is
:A] 515 cm? (B) 416 cm?
(C) 462 cm? (D) 406 cm?
6. Qg % uicrll # 31gum 5 : 7 @ @ 39 P w1 3
A) 7:5 B) 5:7
(C) 25:49 (D) 49:25

The ratio of the circumferences of two ¢irclés is 5 @ 7 ; then the
ratio of their radii is

A) 7:5 Bl §:7

(C) 25:49 M) 49:25
7.  7sec’A-Ttan? A=

(A) 49 B) 7

C) 14 (D) ©

8. R x=awops0 3N y=bsing @ b2x?+a?y?=
&) a’b? (B) ab
€ a'v? D) a?+ b

If x=acos0 and y=>bsin0 then b2x2+a2y2=

(A)  a’b’ (B) ab
) a'b? (D) a®+ b?
SS/A/605 | [, D~ge 5 of 44
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9 U WEAN % I &1 IAGA FIv 3GF 9ie § 10 € A ¢t W 60° 2, a@ iR
& FHaiE 2
(A) 10 (B) 1034
(C) 15/31 (D) 2043
The angle of elevation of the top of a tower at a distance of 10 m
from its base is 60° ; then the height of the leweris
(A}  10m (B) 10J3m
(C) 1543 m (D) 2o¥3
10. UH gam get @ 30 W H SHard e A # Sr oyl & 600 & HW
9141 2, A1 SR &1 418 2
(A)  30v2 Hl (B) 35V3
(C) 2043 (D) 4542 H
A kite Tsoa aa Height 30 m from the earth and its string makes an
anclé®®0Y with the earth. Then the length of the string is
(A)  30Y2m (B) 35J3m
(C) 20J3m (D) 45J2m
11, i si@Ei 2-5,5-8,8- 11, ... % @il &) &ar 2
A) 2 (B) 3
(C) 4 " (D) 35
LSS!A/GOS Page 6 of 44
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The length of the class intervals of the classes,

2-5,5-8,8-11, ...is

(A) 2 B 3
) 4 ' (D) 35
12. AR 9 emar faew demnslt w1 mw 6 R, @) v W " 2
(A) 45 (B) 9
(C) 21 (D) 15
If the mean of four consecutive odt/numbérs _is 67then the largest
number is
(A) 45 Jm 9
(C) 21 (D) 15
13. WYH 6 GH WTHd SR $1 01 3
@y 4 B) 6
Cc) 7 (D) ¥R A w1 A
The mean of first 6 even natural numbers is
(A) 4 (B) 6
Cc) 7 (D) none of these
14. 1+cot?9 =
(A) sin” 0 (B) cosec’®
«e]  tan20 (D) sec?®
SS/A/605 Page 7 of 44
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15. 8,7,9,3,9.5.4.5,7,5% ¥geT ¢

Ay S B) 7
C) 8 \/(p)/ 9
The mode of 8, 7,9, 3,9,5,4,5,7,51s
A) 5 B) 7
C) 8 (D) 9

16. R P(E)=0-02@ P(E') T &
AL 002 - (B) 0-002

(C) 098 — (D) b7

If P(E)=0-02 then P(E') is equahio

(A) 0-02 (B) 0-002
(© o098 D) 097
17. ? TE B T FYEH T R FR AN R F HA G H
wifiea &1 8.2
1 1
(A) 36 (B) 3
g _ 5
© 3 D) o

Two dice are thrown at the same time. What is the probability that

the difference of the numbers appearing on top is zero ?

] 1
W 3 ® &
5 i
(C) 18 (D) 36
SS/A/605 | Page 8 of 44
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J
- aﬁﬁﬁmﬂaﬂmvﬁdwﬁﬁgﬁm%

18.
1
(A) 313- \JB1/ 3
N | D) 1

The probability of getting head§ on both the coins in throwing two

coins is
I B 3
© m 3
1o w ad § uw i agwE g ST 2 s g @ R R
PICETIR
(A) % (B) I!é'
© o 3

A m@ntWis selécted at random in a year. The probability of it being
Junc opggeptember is

y 1
w g B 13

1 1

(€) -3 D) 7

20. ﬁmﬁhﬁm4msmﬁﬁmﬁrﬁn%

§ . F

/1 1

A} = B) =

r\{; - ( 3

. { 5
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The probability of getting a number 4 or 5 in throwing a die 1s

1 1
A = 2
A 3 (B) 3
1 2
€ & O 3
21, A M % Al B AT 64 :125 R A I ¥ B H1 39 B
(A) 25:8 , (B) 25:16
(C) 16:25 (D) FW.H ®E T
The ratio of the volumes of two spheres is 64 :125. Then the ratio
of their surface areas 1s
(A) 25:8 ® 25:16
(C) 16:25 D) noneof these
. 22 2 awAl & =gl | sqIE 452 ud JH Fad FFIE 6 : 7 B,
A ITH Hgadl. F HIIAR
(A)  96:128 By 96:175
(C) 1 RBNM6 (D) 20:63
The tadii of two cylinders are in the ratio 4 : S and their heights are
i the ratio 6 : 7. Then the ratio of their volumes 1s
(A) 96: 125 (B) 96:175
(C) 175:96 (D) 20:63
23. Rﬁwﬂyﬁﬁémﬁ@qumt?
-
(A) wR® \B) 2xR?
\€) " 3xR? (D)  4nR?
[ SS/A/605 | Page 10 of 44

BiharboardQuestionpaper.com


https://biharboardquestionpaper.com/bihar-board-class-10th-math-question-paper/

[ 110 ]
What is the total surface area of a hemisphere of radius R ?

(A)  =R? (B) 2nR?
(C) 3nR? | (D) 4nR°
24, 3fE Redl vig F a#98 F1 Swer 880 §t? R oK fsmn 14 3h @ @1 W@
fode 3=md 2
(A) 10 & (B) 20 &
(C) 40 @A 42 303
If the curved surface area gl asene is 880 cm“and its radius is
14 cm, then its slant heightas
(A) 10cm (B) 20cm
(C) 40cm (D) 30cm
25. af fedhar BATET B ward 2/3 30 2 4 @S FRH 7=y R
A) 2% | \@/'273 &t
(€] 38 (D) 4 &t
If the length of the diagonal of a cube is 2V3 cm, then the length of
its edge is
(A) 2cm B) 2J3cm
(C) 3cm ' (D) 4cm
SS/A/605 Page 11 of 44
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26. e w3 %1 fFT0 T A IR W FE I8 ATFA TEA & FA I8 HAGA H
fra 1 @ S 2
A AT B =T
(€C) B: T (D) 9 T
If the edge of a cube is doubled then the tgial surface arcé will
become how many times of the previous fotal surface area ?
(A) Two times (B) Four times
(C) Six times (D} Twelve times

27. Fedl Mt & a1 98 Aeat SEE BN ¥ @ AT F o 8 &ed
1 H{UE R )
A 2:1 (B) 4:9
C 3:2 (D) 4:3
The ratit of the total surface area of a sphere and that of a
hemispifere having the same radius is
Ay 2:1 (B) 4:9
€) 3:2 (D) 4:3

28, af: Pt s % w3 g A 1232 32 B, @ sER frew 2
Ay 78 (B) 14 ¥t
(C) 21&# | (D) 28 &

SS/A/605
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If the curved surface area of a hemisphere is 1232 cmZ?then its

radius is
(A) 7cm (B) 14cm
(C) 21cm . (D) 28cm

29. R cosB+cos?B=17 sin20+sin?6 H AR 2

(A) -1 B) 1

() 0 ' D) 2

If cos0+cos? 0=1 then the vallie of sinZ0%sin? 0 is

A -1 B) 1
| € O (D) 2
- 1+tanzA=
l+cat™ A
‘) .88 A By -1
(C) cot?A - (D) tan?A

31. WX A(0,1), B(0,5)W@ C(3,4)%# aaBC % ¥ &, M aABC™

wawe (W yrd d) R
- (A) 16 B) 12
() 6 | (D) 4
SS/A/605 - . Page 13 of 44
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IfA{(0, 1), B(0,5)and C(3, 4) are the vertices of any AABC,

then the area ( in square unit ) of AABC is

(A) 16 (B) 12
(C) 6 (D) 4

32. tan 10°.tan 23°. tan 80° . tan 67° =
(A) 0 B
© V3 o 7

33. R F wwwy B & &FBl &1 FEH 400 144 B, & 39 F@ra Yondi
1 J9E B
(A) 10:8 B8)  12:10

Y 10012 ¢ (D) 10:13

If the ratié of &reas of two similar triangles is 100 : 144 then the
ratio oflilge’ corresponding sides is
A 10 8 (B) 12:10
(C) 10:12 (D) 10:13

34. T5dlt 9@ =1 @1 orem gl w wferedfem w@ acht Y@ # #ga #
(A) e (B) B @I
©) o) e

SS/A/605 Page 14 of 44
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A line which intersects a circle in two distinct points is -::a=.111+::cll |
(A) Chord (B) Secant
{Ci Tangent (D) None of these

35. awﬁgﬂﬁWW4:g%mﬂﬁilﬁ§aﬁ;mm
I fepen & 2. |
(A) 9:4 (B) 16: 81
(C) 81:16 (D) 2:3
The corresponding sides of two similar snangles aré, in the ratio
4 - 9. What will be the ratio of thearcas of the triangles ?
A 9:4 (B) 16:81
(C) 81:16 (D) 2:3

36, AABC ~ADEF @m BC = 3 &ft, EF = 4 ¥l 81 7R AABC %1 &%
54 M2 R, A ADEF®1 &awa }
(A) 56t B) 96 3t?
) 196 ¥i? (D) 49 a2
AABG »ADEF and BC = 3 c:.rn', EF = 4 cm. If the area of AABC is
&4 em 2, then the area of ADEF is
(A) 56 cm? (B) 96cm?
(C) 196 cm? (D) 49 cm?

.37. e B ABCH £A=90°, BC= 138, AB= 12 ¥ @t AC F1 W 8
(A) 384 (B) 4®H
() 5ad _ \Lp;/ 6 &l

| SS/A/605 | R : PaéeL;S 0; 44
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In any AABC, ZA =90°, BC= 13 cm, AB= 12 cm ; then the value of

ACis

(A) 3em B) 4cm
(€) Scm (D) - 6cm
38. ADEF Wl APQR ¥ R & 6 2D = LQawi LR = <£ a1 P &

H-T TR ?
(A) £F= /P (B) «F =2£Q
(C) 4£D=/LP (D) ZE= /4P
In ADEF and APQR it is given thiat ZD = £Q and ZR = ZE, then
which of the following is correct ?
(A) «F= /P B) . LF =£Q
(C) «D=/P (D) ZE=/P

\ . =+ AB-BC - CA r - 4 o

39. AABCU.H.&D&FWMQEEDE == =TF @ <A 0°,
£B=80%8 £F 19N R}
(A) 30° (B) 45°
(C) e60° (D) 40°
1
AB_BC _CA . d0°
AABC and ADEF are such that DE~EF - DF and ZA 0°,
ZB= 80° ; then the measure of ZFis
(A) 30° (B) 45°
(C) 60° (D) 40°
SS/A/605 Page 16 of 44
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40. & yhr=dd guit H pvafE w A H qow 2
A) 1 (B) 2
Cc 3 {D)/mﬁm
The number of common tangents of two intersecting circles is
(Aa) 1 B) 2
cy 3 (D) infinitely many

41. afe feht wwiem A w1 5 a1 9g 11 W@ WE 3 2 2l IWH YYH 9§
B ?
A) 1 By 2
€ 3 D) 4
If Sth term of an K.P. is 11 and common difference is 2 then what
is its first term ?
‘{A) 1 (B) 2
1 3 (D) 4

42. n udETE FRIE A ® A n2+2n+1 R A EE 631 @ R
(A) 29 (B) 19
(C) 15 (D) ¥ & wH§ T
The sum of an A.P. with n terms is n? +2n+1 then its 6th term is
(A) 29 . (B) 19
(C) 15 (D) none of these

SS/A/605
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43, PefRfeadem anm A T2 2 |
,w/ 1,7,9,16, ... B) x? x3, x* x°,...
(C) x 2x, 3x, 4x, ... -(D] 2% 44, 62,82, ..
Which of the following is in an A.P. ?
@A) 1, 7.r9, 16, ... B) x2 x3 x4 x° a
(C) x, 2x, 3x, 4x, ... (D) 22, 42 62/82 .
44. Prefsfea i s aam 3 T a8 2 o
(A) 1,2,3,4,.. B)., 3,6, 9 12, ..
(C) 2,4,6,8, ... B 2942 6% 82 ..
* Which of the followirigis notin an AP ?
A) 1,2, 3,4/ (B) 3,6,9,12, ..
(C) 2,46, 8, ... (D) 22,42 62, 82, .,
45. aHia W@ 4,7, 10, ... F U9 20 T2 F ITES B
(A) 500 (B) 540
(C) 590 (D) 690
The sum of first 20 terms of the A.P. 1, 4, 7, 10, ... is
(A) S00 (B) 540
(C) S90 " (D) 690
SS/A/605 Page 18 of 44
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46. Frafafea 3 frowr am 1 & o R 2
(&)  sin? 60" +cos 60’ Mm 90" x cos 90"
(C) sin?60° (D) sin45 x —L
cos 45
Which of the following values is equal to 1 ?
(A)  sin? 60" +cos60’ (B) sin90° xcos90
(€) sin?60° ©)  sinas’ x —d
cos 45
47. cos? A(1+tan? A) =
(A) sin? A (B) cosec?A
cr 1 (D) tan?A
\/ tan 30 «
(&) /3 . (B) i;%
R
C)
5 ® 1
49. cos 60° =
% 1
1
(C) ¥ D) 1
SS/A/605
Page 19 .


https://biharboardquestionpaper.com/bihar-board-class-10th-math-question-paper/

[110]

B0,

S1.

52.

:s;in2 90" -—ta,n2 45' =

1
(A) 1 B 3
© 7 o7 0
farg (8 sin 60°, 0 ) 1 ( 0, 8 cos 60°) & = #1 fi R
(A) 8 (B) 25
1
(C) o4 D) 3

The distance between the points ( 8 sin 60°, 0 ) and
(0, 8 cos 60°) is

(A) 8 m 25

(© 64 o

IR 0(0,0) . @ s fag P& Bdwiw (x, y) & A g oPR

(A)  yrFey* _(BY Yx?+y?

© x*-y? (D) ¥ A = T

¥ © (0, 0 ) be the origin and co-ordinates of the point Pbe ( x, ¥
then the distance OPis

A Y2 -y* B) Yx?+y?
C) x%-y? (D) none of these
SS/A/605 Page 20 of 44
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53. yywaAfeg(12,14)Hh?

‘\@1/12  (B) 14
(C) 13 (D) 15
The distance of the point ( 12, 14 ) from the y-axis is
(A) 12 B) 14,
€ 13 (D) 15

54. g (-6,-8)F =R
(A) -6 | | m -8
€ 6 (D) 8
The ordinate of the point (-6, - 8 ) is
A) -6 B) -8
@ 6 (D) 8

55. Mg 3,-4 ) R T & R 4 2

(A) . om B) fad
Nl L D) wgd
In which quadrant doela the point ( 3, -4 ) lie ?
(A) First ; (B) Second
(C) Third (D) Fourth
SS/A/605
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[110]
frefefs d-wh-w famg fedg squte § fRm 2 2

(A)  (3,2) 49)/1—3.21

(C) (3,-2) (D) (-3,-2)

Which of the following points lies in second quadrant ?

(A)  (3,2) B) (-3,2)

(C) (3.—.21 (D) (-3,-2)
ﬁ?ﬁﬁl4.-4)3ﬂ1(-4,4]aﬁﬁaﬁmﬂ?ﬂ1@w%ﬁwﬁ§%
e #

(A) (4,4) (B) (-3,2)

(C) (0,-4) D) (-3,-2)

The co-ordinates' of the mid-péint of the linfe segment joining the
points (4, -4 ) and (<4, % )are .

(A)  (4,4) (B) (0,0)

(C) (0,-4} (D) (-4,0)

WWrEvs ABF Bem fg (2, 4 ) R ol forg 4 & Prgs (5,7 ) E A fag
F & fFams ¥

(A (2,-2) (B) (1,-1)

€ (-2,-2) (D) (-1,1)

The mid-point of line segment ABis ( 2, 4 ) and the co-ordinates of

point A are ( 5, 7 ), then the co-ordinates of point B are

(A) (2,-2) B (1,-1)
(C) (-2,-2) (D) (-1,1)
SS/A/605 Page 22 of 44
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59. el g & = & Rt & Plwiw (10, -6 ) 7w (-6, 10}3‘«1‘:;0;;
% & fréas &
(&) (-2,-2) 8 (2,2)
) (-2,2) (D) (2,-2)
The co-ordinates of the cndsi of a diameter of 4 circle are ( lﬁ, -6)
and (- 6, 10 ). Then the co-ordinates of th@centre of the circle are
A (-2,-2) AB) O (2,2)
€ (-2,2) D) (2,-2)
6u. e ol Bl % ¥l & fadolfw (4,6, (0,4) 3t (5, 5) @ @ P
& H5 & Féws &
(&) (5,3) B) (3,4)
C) (4,4 D) (3,5)
Thre co-ordinates of the vertices of a triangle are (4, 6 ), (0, 4 ) and
( 5, S.)\thén the co-ordinates of the centroid of the triangle are
Ay (5,3) (B) (3,4)
€ (4,4) (D) (3,5) 23/44
61. Frafefes d #9-w i &1 zove yaw & R 2
® 201: at B 5 372
< \/16)' — ;2_3’? (D) 221!553
Lss/A/60< !
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Which of the following fractions has terminating

expansion ?

14
(A) B 9
20 x 32 ' (B) 5l 72
8 15
(C) D
22 » 32 ' (D) 22,53
62. —L _ & w0505 ® e o1 g
2N x5m
101
(A) ' 9
101
(C) 15

In the form of —L,U-SOS ¢an be writtt.:n as

(A)

(C)

g gm,
101 : 101
_avi (B
21 52 j 2! x53
101 D 101
223(52 ) 23):52

[ 110
decima

63. M AR Wa=bg+r § b=q4,q=5 3R r= 1D N aF AR FE?

\.w

(C)

20 (B) 21

25 (D) 31

If in division algorithm a=bg+r, b=4, q=5 and r = 1, then what

is the value of a ?

A) 20 - (B) 21
(C) 25 (D) 31
SS/A/605 Page 24 of 44
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(110]

TETE 2x% - 4x-6 H T 8
(A) 1,3 B -1,3

C 1,-3 o)y -1,-3

The zeroes of the polynomial 2x%-4x-6 are

A 1,3 B -13
) 1,-3 o =-1,-3

65. WEUG (x3 +x2 +2x+1) (x2 +2x+1) & & 2
B3 & 4
€ 35 (D) 6
The d;:grcc of the polynomial [:c3 +x2 +2x+1) (x2 +2x+1) is
(A) 3 B) 4
© 5 | D) 6

66. fufelaa i w7 ague 3¢ & 2
Ay x2-7 (B) 2x2+7x+6
(C) é—x2+%x+4 .(,B]/x+%
Which of the following is not a polynomial ?
A) x2-7 (B) 2x? +?}c+6
© Lx2ileia @) x+2

2 2 X
SS/A/605 | Page 25 of 44
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68.

(110]
P i e Ry wgee & e 2@ -2 8 2

A)  x%+4 B) x*-4

Q) x2-2x+4 (D) x*+J8

Which of the following quadratic polynomials has zeroes
2end-27?

(A) x2+4 B) x*-4

C) x*-2x+4 (D) x2?++48
gfe agae 24+7t410 S YA W@ PA @ o+ pH AH R

w7 {8 10

c -7 (D) -10

If o and P are thé zeroes of the polynomial t2+7t+10 then the

value of @+ Bis

A) 7 (B) 10
€ -7 (D) =10
69. (sin30 +cos30’)~(sin60° +cos60’) =
7 -
09 1 (D) 2
SS/A/605 | |
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(110 |
70. e fum WER (k-1)x2 4 kx+] F T [=F - 4 B D k F AW 2

A -2 ® 2

© -2 D 2

If one zero of the quadratic polynomial (k -1).1c2 +kx+1 1s - 4 then
the value of k is

(A) -

£l

(B)

Bl

€y -

wiH

(D)

W

71 k% fRE am ¥ frg REm R0 ke? —6x+1 =0 ¥ A aaRE

il
(A) 6 (B) 8
) @ (D) 10

For whatwalue of k, roots of the quadratic equation kx? - 6x+1 =0
are real and equal ?

Ay 6 (B) 8
) 9 (D) 10
72. AR WR p(x) T TIS 2 A, A Pl § @9 pix) w1 o
oEEve R ?
(A)  x-2 «(B).~ X+2
C) x-1 | (D) x+1
SS/A/605
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73.

74.

| (110
If one of the zeros of the polynomial p(x) is 2 then which of the

following is a factor of p(x) ?
(A)  x-2 | (B) x+2

C) x-1 (D) x+1

ﬁﬁi‘gﬂ'ﬂ ex? +ax+b %Wuavﬂlﬁﬁ,'cﬁu.ﬂ ‘Ffm't

2

a -
w 2 | (B)

6o 50

b &
© < D}

If @ and B be the zeros of the polymomial *x2 +ax+ b then the value

ofa.fis
a =
& 2 B ==
b b
(C) 5 (D) S
Fraferfan & & @ @ afieor @ 2

(A) "T3) (x-3)=x?-4x3(B) (x+3)? =4(x+4)

O @x-22=4x247 D) axeloax

X

Which of the following is a quadratic equation ?

(A) (x+3)(x-3) =x?-4x3(B) (x+3)? =4(x+4)

(C) (2x-2)2 =4x24+7 (D) 4x+j4lx—=4x

SS/A/605
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| 110 |

PreferRea & & @ R aftesor ) & 2

J.Q)/Sx—x2=-x2+3 B) x3-x?=(x-1)°
(C) (x+3)2=3(x2%-5) (D) (¥2x+3)%2=2x2+5
Which of the following is not a quadratic equation ?

(A) Sx-x2=x%+3 B) x2cxPmix=1)’
€ (x+32=3(x2-5) (D) (VIxw3P=2x%+5

76. feum wftww 2x2 -7x+6=Q = [TEdF 2
\91/ 1 B) -1
(C) ﬁ? ‘" (D) 37
The discriminanit of the quadratic equation 2x2 -7x+6=0 is
(CVR B -1
) &7 ' (D) 37
77.  Reffea § @9 fag x =2 H a@fE @ ?

(AL (2,0) B) (2,1)
© (22) D) wH A @A
Which of the following points lies on the graphof x= 27
Ay (2,0) , B) (2,1)
o (22) (D)  all of these
| S8/ Al /605 Page 29 of 44
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78. aR P+ 1,2P+1,4P- 1 BAR AR A E @ pF WA 2

(A) 1 (B) 2
(C) 3 : (D) 4
If P+1,2P+1,4P-1 are in A.P. then the value of Pis
A) 1 (B) 2
(€ 3 (D) 4

79. @NR AN 1,5,9, ... B G AR B

&) 2 B) 3
el a . o 8
The common difference of afithmétic progression 1, 5, 9, ...
A) 2 (B) 3
c 4 (D) S
80. TEIR AR 5, 8, 11, 14} H1 FH-A1 TG 387 ?
Ay toaf B) 114
@ 124 (D) 134l
NTEh tesi of e AD, 5, B, 11, 18, ... 16087
(A)  10th (B) 11th'
(C) 12th (D) 13th

81. sin(90 -A) =

s
\LB( cos A

[110 ]

is

(A) sin A
(C) tan A (D) secA
| SS/A/605 Page 30 of 44
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.., [110]
- AR a=p=60" A M cos(a-p) F A 2

(A) (B) 1

= | '(m 2

If «=p=60"then the value of cos(a-p) is

o mlh—-

83

1

(A) 5 (B) 1

(C) © (D) 2

qfg 6 = 45° A @ sin 6 + cos © W1 4

Ay L 2

& = B V2
1 .

(C) 5 (D) 1

If 8 = 45° then the valiie of sin 0 + cos 0 is
1

A s

(A) 7 (B) 2
1

© @ 1

84. uR A=3zorddt 2tand Gogmp

1-tan? A
@&  2'tan 30° (B): tan 60°
(C) 2 tan 60° (D)  tan 30°
If A = 30° then the value of —212nA4 is
1-tan? A
(A) 2 tan 30° (B) tan 60°
(C) 2tan 60° . (D) tan 30°

SS/A/605
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[110

85. !TE tan9=%€'?ﬁsin BEFHTF{%

S 12
5 12
€ 3 D) =

If tan8=12 then the value of sin 6 is

5

2 12
(A) 15 ” (B) 13

S - 'R
(€) 13 . (O) S

86, cr_:us 59° - tan 80° o

sin31° cotl0®
(A)  —= B) 1

J2

J3 1
(Ci e N 2

87. dfc 0 25° x tan65° = sin A & @ A H1 4H R

W0, 25° (B) 65°
(C) 90° (D) 45°

If tan25° x tan65° = sin A then the value of A is

(A)  25° (B) 65°
(C) 90° (D) 45°
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(110]

<= afe cosO=x Al tan O =

J1+x2 | B) 1-x*
s (R

If cosf= x then tan 0 =

\/1+Jc2 | e 2

(A) = (B) =
— x2 x
(C) 1-x (D) o
89. (l-cos’@)=
(A) cos28(l1-cos’8) (B) sin20 (1+cos?0)
(C) sin?0 (h=sin?9) (D) sin20 (1+sin? @)
90. y¥g utfRa i Rgm s and 2
(A)  (y-0) B) (2,y)
IS (0, x) (D) ¥ &+ T
What is the form of a point lying on y-axis ?
A) (w.0) B) (2,y)
(C) (0, x) ' (D) None of these
SS/A/605
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[110
91. Fefefgndd e Rem g S s 3w - 10 € >

(A)  x%+7x-30 (B) x%-7x-30
(C) x% +7x+30 (D) x2-7x+30

Which of the following quadratic polynomials has zeroe:

3and - 10?
(A) x2+7x-30 (B) %%—Tx- 30
(C) x2%+7x+30° (DY x2=7x+30

92. ﬁhﬂ%ﬂﬁi@a%@ﬁ'mmsﬁﬁm-zﬁ,ﬁaﬁ
feama agwe 2

(A) x%2-3x-A (B) x2-3x+3

(C) x?% - 2%+ 3 (D) x2+3x-2

If the sum of zeros of a quadractic polynomial is 3 and thei
“product is —2 'then that quadratic polynomial is

B Ax2-3x-2 (B) x%-3x+3
() x2-2x+3 (D) x2+3x-2

93, AR p(x) =x*-2x3+17x% - 4x+30 B g(x)=x+2 & ¥ fe@ e |

A NITES %1 9@ 8

(A) 6 (B) 3
c) 4 (D) S
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[110]
If p(xj=x4—2x3+17x2-4x+30 is divided by g(x)=x+2 then

the degree of the quotient is
A) 6 | (B) 3
C 4 D) S

x+2y+3=0, 3x+6y+9=0 & fre g &M ?

(A) THEA (B) 1§ EE A
(C) =P wa (D) =i A BE

How many solutions will x +2y¥8.=0,8x+6y+9 =0 have ?
(-A) One solution

(B) No solution

(C) Infinitcly memgadolitions

(D) None ofghese

95. Q ew Wi & Sty IR aom g @ g1 ) g g
(&) 1 ' B) 2
() FEfEa (D) % q =
If the graphs of two linear equations are parallel then the number
of solutions will be
(A) 1 B) 2
(C) infinitely many " (D) none of these

SS/A/605
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96.

97.

[ 110
g GfiHw g0 Sx-4y+8=0 W@ 7x+6y-9=0 2

(o) ®T (B) W
(C) anf¥a (D) i @ & T
The pair of linear equations 5x-4y+8=0 and 7x+6y-9=0 is_

(A) consistent (B) inconsistent

(C) dependent (D) nemcofithcse

af Rura gt 3x2 -5x+2=0 ¥ qL.« @ B & @ o +p? F1 7

13

W ® 13
S

© 3 o 3

If « and 3 are.roets of the quadratic equation 3x%-5x+2=0 then

the varaeof 8> + B is e a o1e sy gl ST

AN AU, ATees UUe, 3iEe-6t,
i 9 TSI, siled, Ale ee, dc- 34 31T
18) S | (B) o= AR o udten uss 12 312 $ Be...

( BiharboardQuestionpaper.com _,B
b,

© 2 (D)

nlw

98. af fyama wflewl 2x2 —7x- p=0 H1 & YA 2 W @ pH1 4F B
(A) 4 (B) -4
C) -6 - (D) 6
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ﬂ (110

If one root of the quadratic equation 2x% -7x - p=0 is 2 then the

value of p is
(A) 4 ' "(B) -4
(C) -6 (D) 6

afé foam ol 2x2 - x-6=0 F1 w q@ =3 ¥ g o0 @ R

(A) -2 (B) 2

© 3 D) B

If one root of the quadratic mquiitior 2x*=x-6=0 is :,;then its
another root is |

(A) -2 B) 2

© 32 D) 3

-00. fmraiemg s? -6x+3=0 FEi RN vFRa w2 ?
A sl @ EwH (B) drafds T @9H
(C) anafaw 38 (D) ¥ &+ T&

What is the nature of the roots of the quadratic equation

2x2 - 6x+3=0 ?

(A) real and unequal (B) real and equal
(C) notreal ' (D) none of these
" SS/A/605 | "~ Page 37 of 44
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(110

WUE - & / SECTION - B
#Y I WA /.Short Answer Type Questions
ovT G®T 17 30 7% g A0 7y &1 FH | fEE 150y & 3T 1 05
w¥ & forg 2 o Fraifea &1 15 x 2 = 3(

Question Nos. 1 to 30 are Short Answer Type Questions. Answer an,

15 questions. Each question carries 2 marks. 15 x2 =3
v 1+cos®B =1+‘»::<:n‘st‘é} '
)' fre ®t & 1-cos0 sin 0

Prove that ’1+c050 =1+.¢:ose -
l1-cosB sin 0

2. fag w ™ tan9° . tan27° =cot®8°.cot 8P .

Prove that tan9° . tan27® =cows8°. cot81°.

3 Ife cosA=-§ E’fFthoiAﬂi cosec A % HH I1d &Hi|

&

If cos .:-9;=-‘=l tHen {ind the values of cot A and cosec A.

4, A FEEETEE Qs W w REE @ %A 365 @)

Find “two consecutive positive integers, sum of whose square:
N 365. >

5. @ WG & T F HM 180 B| BIA W@ @ 9« W w1 308 T 2
W Fua & o wftewo fod)

The difference of squares of two numbers is 180. The square of th:

smaller number is 8 times the larger number. Write the equatior
for this statement.
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a

[110]
fet gt POR & @ fag s 3t T 3wl PQ AW PR W FA9: TH YK §

o %=%mzm=zpﬁo,?hﬂmaiﬁaapokwmﬁa@

Pgst 21

In a triangle POR, two points S and T are on the sides PQ and PR

respectively such that g—gr% and £PST =ZPRQ, then prove that

APQR 1s an isosceles triangle. -

7. afy Rt v % um A B 7 3 @ sERSEE 24 R @ W
THYY 1 HAFA A1 H
If the radius of base of a conevis T emv@and its height is 24 cm then
find its curved surface arcas |

8. whudl A fire A i @ o 7 A 1 40 e ¥k T T e
HAE 7
The length of the rninutc hand for a clock is 7 cm. Find the area
swenphby it in 40 minutcé.

9. fuz®i M .1an7° . tan 60° . tan 83° = J3.
Prove.that tan 7° . tan 60° . tan 83° = /3.

10. fag =6 5-J3 = sufaw wem R
Prove that 5 - V3 is an irrational number.

1. ksfmmFfamfasgd (1,1),(3, k)3 (-1,4)T@E?
For what value of k points ( 1, 1 ), (3, k) and (- 1, 4 ) are
collinear ? -

 SS/A/605 |
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13.

-14.

15

16.

17.

18.

| . [110]
y-agq{qa;tmﬁqmaﬁﬂ’lﬁ:gaﬂ[6.5]3ﬁ”{l—4.31am

al

Find such a point on y-axis which is equidistant from the points
(6,5)and (-4, 3).
qm?nﬁaiﬁvﬁaﬁaan%muswmaﬁwamﬁ%lawmmﬁiﬁ

gy ¢ ol @A Gan F v w2

A ladder 7 m long makes an angle of 30° wigh the wall, Find the
height of the point on the wall where the ladder tomci®s the wall.

% GRS ABCD 91 1 AD % @¢ WM W E'Cs fog @ W BE,
cp® F R wfede @ 2 @ fag ®t % AABE~ ACFB.
E is a point on the extended past of the side AD of a parallelogram

ABCD and BE intersects CD 4t F ihen prove that AABE ~ ACFB.
ABC ww wiRr e e 2 few cc wwm d R wt T

AB? =2AC?.
ABC is an rsggceles right triangle with £C as right angle. Prove that
AB? =2AC®

frara q@ 1 mdm & FHHw 2x% -242x+1=0 & & I B

Using quadratic formula find the roots of the equation
2x? -2/2x+1=0.

3+ 11+ 19+ ... +67 % ANTHA F1d HL

Find thesumof 3+ 11 + 19 + ... + 67.

gfe fedft mmi %9 %1 5 9l v 9 af wg wuW: 43 @ 79 ¥ @ @ A
Fd
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[110 ]
If 5t2 a=c Sth terms of an A.P. are 43 and 79 respectively, find the
AP

19. x*-! % x - 1% ym #ifg
Divide x° +1 by x + 1,

20. IFe= TSwE IR &1 ¥89M 9 504 991 1188 H1 ToRo T il
Using Euclid's vision algorithm, find the H.C.F. of 504 and 1188.

21. 7= FHHO 2x% +5x-3=0 % fodwsw wa # k@ H vl o 7@
=
Find the discriminant of the quadratie equation 2x°+5x-3=0
znd find the nature of the roots alga.

22. = fag % fadwis wm A S famgalt (~ 1, 7) otk (4, - 3) % Fem TR
TETEvE W 2 : 3% 3 TE § Sa AE s )
Find the co-ordinates of the point which divides line segment
joining the points.(~ 4,7 ) and (4, - 3 ) in the ratio 2 : 3 internally.

23 ﬁpmmmmﬁm:ﬂﬂ%ﬁiﬂnm{-s -1),(3,-5)am
(5,2)4&
Find'Viag'@nea of the triangle whose vertices are (-5,-1),(3,-5)
and (8,2 )

24. oot w1 & ol 943 ¥ 1 o9 1 51 9B St 7@ w
The diagonal of a cube is 9V3 cm. Find the total surface area of
cube.

25. af tanQ:-l% & @ sin 6 + cos O 1 WM 7 Hi|
If tanﬁ-—-% then find the value of sin 0 + cos 0.
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27.

28.

29. -

30.

(110]
afe sin3A=cos(A- 26°}€IGETSAE$=§HﬁW%?ﬁA$TmmﬁI

If sin3A=cos(A-26°), where 3A is an acute angle, then find the

value of A.
@ wemeil #1 A 50 @ W v A @ wom @ A LW R
@ TEand Ja =]

The sum of two numbers is 50 and one number is % times of the

other ; then find the numbers. |

AB = AC 911 U% BHfgag AABC $1 =g T ¥ CB R f&m E & faxg
R13f AD 1 BC 3R EF L AC ?, @ f52 &% f% AABD ~ AECF R
E is a point on side CB pfodlced of an isosceles AABC with
AB= AC. If AD 1 BC and EF .. AC, prove that AABD ~ AECF.
TH AABC &1 Y91l 4B W BC aw wifers AD U6 3 APQR )
Y3l PO R (BR @ mferm pM AW wwE € @ fig Wt

- f% AABC +'BPOR;

Sides ‘45 and BC and median AD of ‘a AABC are respectively

propestithal to sides PQ and PR and medium PM of another APQR.

Then prove that AABC ~ APQR.

AABC 91 ADEF §9%4 § Y1 & S3%a %99 9 82 aur 64 a2 §
af¢ DE=518d & A AB 7@ H

AABC and ADEF are similar and their areas are 9 crniand 64 cm?
respectively. If DE = 5:1 cm then find AB.
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[110]

7% 779 ¥ / Long Answer Type Questions

v WG 31 S 38 ad IAAq weA £ 3 @ el 4wt & W ) WS

oy & =7 s == fuifa T 4x5=20
Questic~ “=s 3] to 38 are Long Answer Type questions. Answer any
4 questo-s Zach question carries 5 marks. - 4x5=20

31. T== THW W x+3y-6=0 U1 2x - 3g- 12=0 ® Fi@ did au

7|

ml.l
i

Draw the graphs of the pair of linea: equations x+3y-6=0 and
2x -3y -12=0 and solve them. |

32. fog =t f& ol fFd finw = ve Szl B & & S0 F g @) ik
 HWN HI Haka FE I I FATfas B @ B gaeg g1 2 |
If one angle of a.tri@incle is equal to one angle of the other triangle

and the sidesinclided between these angles are proportional then
prove tharthe tm@éngles are similar.

33. QA Tl Fs W 3 I F g ) AR T R wE i el ¥
WHFRST It } @ Wem Fa i

A lwo digit number is four times of the sum of its digits and twice

the product of its digits. Find the number.

34, ?-5%@@%@@3@%%@5:8%3@%&%3@%
HTat = =iy

Draw a line segment of length 76 cm and divide it in the ratio

5 : 8. Measure both parts.
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39.

36.

37.

[110]

ﬁﬁ & :::zg;::ﬁg]) =l+2tan29-23ec9 .tan .

(secb-tan0)
(secb+tan9)

@ gai & Brad waw: 19 @f otk 9 AR §) 3@ gu A B Fw@ H

Prove that =1+2tan28—23cc9.tan0.

fyweht aftfty 3 A1 991 1 ohfeml & o & s 2|

The radii of two circles are 19 cm and 9 cm resneciwely. Find the
radius of the circle which has circumfcrence equal 'to the sum of

the circumferences of the two cifgles.

frafefaa 927 &1 o 1+

ol siae | 11-13| 13-15 | 1599 | 17-19 | 19-21 | 21-23 | 23-25

]

AR 7 o 9 13 20 5 4

Find the mean®f the [gllowing distribution :

Clags- _nd’grls-ls 15-17 | 17-19 | 19-21 | 21-23 | 23-25

interval -
Frequencys 7 6 9 13 20 S 4
38. W Y % fymw 6 fads Sud 4 aft } o wd g Bl & o

(arttri) 18 vt 3tk 6 Wft &) va fosmes 1 Iyl gawe wma &KX

The slant height of a frustum of a cone is 4 cm and the perimeters
(circumferences) of its circular ends are 18 cm and 6 cm. Find the
curved surface area of the frustum.
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